
 

 

 

 

Find the area of the following trapezoids. 
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Area of ABCD = ______________                      
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Area of RSTU = ______________                      
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    4.5 m         S 

P                         7.5 m                         Q 

  Area of PQRS =                         

           7 ft  H                                                            G 

                    4 ft 

 Area of EFGH =                         
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Area of a Trapezoid

      C

                                   4 cm 
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